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Lyocell N cm ,
9 9 2
, pH (C)  (min) (m) (L)
1 4 100 15 6 26
2 4 110 30 9 34
, 3 4 120 45 12 42
4 4 130 60 15 50
5 7 100 30 12 50
6 7 110 15 15 4
1 7 7 120 60 6 34
8 7 130 45 9 26
1.1 9 10 100 45 15 34
10 10 110 60 12 26
345dtex/ 144f " 10 120 s 9 50
, 12 10 130 30 6 4
13 13 100 60 9 42
> L. HR 4B 14 13 110 45 6 50
4 15 13 120 30 15 26
16 13 130 15 12 34
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1 # 1 .7dtex x 38 mm Lyocell 27 .8tex 200
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Lyocell
T, =0.277,T, =0.215 T, =0.182,T, =0.075 T, =0.157,T,=0.164 T, =0.220, T, =0.105
T T, T T T Ty T T, Ty T T Ty
1 0.160 0.241 0.203 0.067 0.170 0.073 0.188 0.177 0.197 0.091 0.200 0.100
2 0.214 0.286 0.239 0.077 0.170 0.075 0.205 0.164 0.204 0.089 0.201 0.105
3 0.203 0.275 0.223 0.073 0.170 0.071 0.186 0.166 0.212 0.091 0.192 0.096
4 0.211 0.276 0.227 0.061 0.170 0.069 0.193 0.165 0.195 0.095 0.192 0.101
5 0.225 0.272 0.225 0.074 0.168 0.075 0.202 0.177 0.196 0.085 0.184 0.099
6 0.226 0.260 0.221 0.073 0.167 0.073 0.205 0.173 0.203 0.098 0.198 0.103
7 0.235 0.281 0.238 0.073 0.163 0.077 0.216 0.178 0.214 0.088 0.197 0.103
8 0.223 0.277 0.236 0.067 0.159 0.077 0.190 0.165 0.191 0.111 0 .201 0.105
9 0.190 0.259 0.220 0.071 0.156 0.076 0.209 0.181 0.206 0.086 0.188 0.105
10 0.216 0.254 0.219 0.070 0.18 0.069 0.182 0.174 0.194 0.070 0.181 0.100
11 0.232 0.283 0.223 0.071 0.165 0.077 0.187 0.167 0.207 0.094 0.197 0.104
12 0.206 0.276 0.235 0.066 0.160 0.076 0.190 0.167 0.217 0.099 0.196 0.108
13 0.112 0.245 0.206 0.058 0.149 0.061 0.204 0.169 0.210 0.090 0.172 0.088
14 0.155 0.236 0.199 0.039 0.124 0.041 0.183 0.163 0.196 0.060 0.154 0.059
15 0.122 0.207 0.146 0.014 0.113 0.032 0.168 0.159 0.190 0.024 0.130 0.042
16 0.094 0.180 0.104 0.010 0.096 0.020 0.168 0.159 0.176 0.013 0.102 0.029
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24 4 « 311 - [31]
; S 2.4
pH , 5 . GB/T13758
,GB/ T 14463
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Lyocell 0.26464  0.002364 0.000684 0.000224 0.001640
0.006060 0.000404 0.000628 0.002088 0 .001592
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0.004884  0.000584 0.000296 0.000396 0 .00264
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